BALANCING DOUBLE DISPLACEMENT REACTIONS<]
e

Balance the following double displacement reactions.

@_ NaBr+__ HPO,—->__ Na/PO,+  HBr
b Ca(lOH),+__ AL(SO),>__ CaSO,+__ Al(OH),
@©@_  Agl+__ Fe(CO),>__ Fel,+__ Ag,CO,
@_ CoBr,+__ CaSO,> __ CaBr,+__ Co,(SO,),
@ __  NapP+__  CF,>_  NaF+__ Cap,
®__ L,PO,+__ NaBr->___ NaPO,+__  LiBr
@_ HSO,+_ NaNO,->__ HNO,+__ NaSO,
M) NaBr+__ CaF,>_  NaF+__ CaBr,
__ ABr,+_ KSO,>_  KBr+__ AL(SO,),
__ FeCl,+_ NaOH->__ Fe(OH),+__ NadCl
®_ CoBr,+_ (CaSO,> _  (CaBr,+ __ Co,SO),
®“_ L,P,O,+_ NaBr->__ NaPO,+__  LiBr
m__ CaF,+_ L,SO,->_ = CasO,+ __ LiF
mM__ RbNO,+__ BeF,>__ Be(NO,),+__  RbF

© MgF, + Li,CO, > MgCoO, + LiF



DBALANCING DOUBLE DISPLACEMENT REACTIONS<]

Answers
@_3 NaBr+_1 HPO,—->_1 Na/PO,+ 3 HBr
b 3 CalOH),+__1 AIL(SO),> _3 (CaSo,+_ 2 Al(OH),
©@_6 Agl+_1 Fe(CO),>_2 Fel,+_3 Ag,CO,
@_2 CoBr,+_3 (CaSO,> _3 (CaBr,+__1 Co,SO),
@©@_2 NaP+_3 CaF,>_6 NaF+__1 CaP,
®_2 L,PO,+_3 NaBr>_1 NaPO,+__3 LiBr
@_ 1 HSO,+_ 2 NaNO,-> _2 HNO,+__1 Na,SO,
) 2 NaBr+__1 CaF,>_2 NaF+__ 1 C(aBr,
@ _ 2 ABr,+_ 3 KSO,>_6 KBr+__1 AL(O,),
®_1 FeCl,+_3 NaOH-> _1 Fe(OH),+__3 NaCl
®_ 2 CoBr,+_ 3 (CaSO,> _ 3 (CaBr,+__1 (Co,S0O),
®_ 1 L,P,O,+_3 NaBr->_1 NaPO,+_ 3 LiBr
m_ 1 CaF,+_3 L,SO,> 1 CaSOo,+ _ 2 LiF
mM_2 RbNO,+_ 1 BeF,>_1 Be(NO,),+__2 RDbF
©_ 1 MgF,+_1 L,CO,>_1 MgCO,+_2 LiF
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